	SYNOPSIS BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			Tex-Air Filters 5757 East Rosedale Ft. Worth, TX 76112 Scott O'Neal	
	Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304			Tel: 214-244-5618	
	DESCRIPTION:	Est. Qty.			
	Section 5 -HEPA Filters				
41	Size: 24"W X 12"H X 11-1/2"D, microglass media, 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	8	each	\$49.42	\$395.36
42	Size: 24"W X 12"H X 11-1/2"D, microglass media, 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	64	each	\$64.10	\$4,102.40
43	Size: 12"W X 24"H X 12"D, with Header, carbon media, 95% DOP, effeciency, MERV 8, Fastenal No. 10473-07519	8	each	Deleted per Addendum No. 1	
44	Size: 24"W X 24"H X 12"D, with Header, carbon media, 95% DOP efficiency, MERV 8, Fastenal No. 10473-07518 or equal			Deleted per Addendum No. 1	
	Total - Section 5				\$4,497.76
	Specify Prompt/Early Payment Discount Terms (if any):			Net 30 days	
	Specify the name, telephone number of the account representative who will be handling and managing this account.				
	Primary Contact Person:  Secondary Contact Person:			Scott O'Neal, 214-244- 5618, scottoneal@texasairfilters. com Benny Aycoth, 817-408- 6908, ba_texairfilters@yahoo .com	

	SYNOPSIS BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters  Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304			Filter Systems 9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765
	DESCRIPTION:	Est. Qty.		
	Section 2 - Automatic Roll Filters			
4	Size: 45"W X 65"L X 1" thick, polyester media, for Farr Model 40F and 42 F, Fastenal No. 10473-07497 or equal	16	rolls	\$85.51 \$1,368.16
5	Size: 57"W X 65"L X 1" thick, polyester media, for Farr Model 50F and 52 F, Fastenal No. 10473-07496 or equal	12	rolls	\$100.44 \$1,205.28
	Total - Section 2			\$2,573.44
	Specify the name, telephone number of the account representative who will be handling and managing this account.  Primary Contact Person:  Secondary Contact Person:			Kyle Northcutt, 2014-384-3881, knorthcutt@filterstm.com  Brad Hull, 214-630-4557, bhull@filterstm.com

	SYNOPSIS BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters  Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304			Allison Enterprises dba Kleen Air Filter Service & Sales 102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786	
	DESCRIPTION:	Est. Qty.			
	Section 1 - Roll Filters				
1	Size: 20"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter® or equal, Fastenal #4302851	8	rolls	\$20.25	\$162.00
2	Size: 30"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter® or equal, Fastenal #4302854	8	rolls	\$30.35	\$242.80
3	Size: 60"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter® or equal, Fastenal #4302860	13	rolls	\$60.75	\$789.75
	Total - Section 1				\$1,194.55
26	Section 4 - Pleated Air Filters, Wire Backed Size: 17'W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300599	84	each	\$4.53	\$380.52
27	Size: 18'W X 22"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300468	12	each	\$3.95	\$47.40
28	Size: 20"W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300475	24	each	\$2.80	\$67.20
29	Size: 12"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300482	276	each	\$1.85	\$510.60
30	Size: 16"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300488	408	each	\$1.78	\$726.24

SYNOPSIS
BID NO. 2017-007-6631 Annual Contract for
HVAC Air Filters

	Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304		
	DESCRIPTION:	Est. Qty.	
31	Size: 16"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300489	36	each
32	Size: 16"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300490	358	each
33	Size: 18"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300495	80	each
34	Size: 20"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300497	36	each
35	Size: 20"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300499	540	each
36	Size: 16"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300506	203	each
37	Size: 16"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300508	147	each
38	Size: 20"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300510	96	each
39	Size: 20"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300512	16	each
40	Size: 24"W X 24"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300513  Total - Section 4	180	each

Allison Enterprises dba Kleen Air Filter Service & Sales 102 E Yeaguia

Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786			
	\$2.22	\$79.92	
	\$2.11	\$755.38	
	\$2.39	\$191.20	
	\$2.17	\$78.12	
	\$2.52	\$1,360.80	
	\$3.56	\$722.68	
	\$4.04	\$593.88	
	\$4.00	\$384.00	
	\$4.59	\$73.44	
	\$4.95	\$891.00	
		\$6,862.38	

SYNOPSIS BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters

Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304

**DESCRIPTION:** Est. Qty.

Section 6 - Rigid Cell Filters

Size: 24"W X 12"H X 12"D, fiberglass media, 43 each single header, 85% effeciency, MERV 13,
Manufacturer: ProFitter® or equal, Fastenal No.
4301713

Size: 24"W X 24"H X 12"D, fiberglass media, 155 each single header, 85% effeciency, MERV 13,
Manufacturer: ProFitter® or equal, Fastenal No.
4301716

**Total - Section 6** 

Grand Total

Specify any additional comments/cost included with your bid proposal, if applicable:

Specify the name, telephone number of the account representative who will be handling and managing this account.

Primary Contact Person:

Secondary Contact Person:

Allison Enterprises dba Kleen Air Filter Service & Sales 102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254

Fax: 254-729-5786

\$35.36

\$44.04 \$6,826.20

\$8,346.68

\$37,648.65

Section 6

\$1,520.48

Section 3 Self Supporting filters were bid as wire

back filters same as section 4 Rigid Cell filters (synthetic)

Richy Wilson, 254-292-9263, richy@kleenairfilters.com Neal Allison, 254-729-0254, neal@kleenairfilters.com

**SYNOPSIS** BID NO. 2017-007-6631 Annual Contract for Fastenal **HVAC Air Filters** 2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist **Contract Period: 1/17/17 thru 1/16/18** Tel: 507-453-8548 **Buyer: Samuel Cooper (214) 653-6304** Fax: 507-494-3118 **DESCRIPTION:** Est. Qty. Section 3 - Pleated Air Filters, Self Supporting Size: 10W X 24"H X 1"D, synthetic fiber media, 36 \$2.04 \$73.44 each 6 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300393 Size: 12W X 12"H X 1"D, synthetic fiber media, \$1.98 \$997.92 504 each 7 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300396 Size: 14W X 24"H X 1"D, synthetic fiber media, \$2.26 \$189.84 84 each 8 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300405 Size: 16W X 16"H X 1"D, synthetic fiber media, 108 \$2.26 \$244.08 each 9 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300412 Size: 16W X 20"H X 1"D, synthetic fiber media, \$1.75 \$378.00 216 each 10 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300413 \$2.78 \$400.32 Size: 16W X 25"H X 1"D, synthetic fiber media, 144 each 11 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300543 Size: 16W X 25"H X 1"D, synthetic fiber media, 108 each \$1.89 \$204.12 12 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300416 Size: 18W X 18"H X 1"D, synthetic fiber media, 12 each \$2.26 \$27.12 13 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300418 Size: 18W X 26"H X 1"D, synthetic fiber media, 12 each \$6.44 \$77.28 14 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 10473-07105

## **SYNOPSIS** BID NO. 2017-007-6631 Annual Contract for **HVAC Air Filters**

Contract Period: 1/17/17 thru 1/16/18 **Buyer: Samuel Cooper (214) 653-6304** 

	Buyer: Samuel Cooper (214) 653-6304		
	DESCRIPTION:	Est. Qty.	
15	Size: 20W X 20"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300424	336	each
16	Size: 20W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300427	300	each
17	Size: 20W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300428	48	each
18	Size: 12"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492501	952	each
19	Size: 16"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492506	48	each
20	Size: 16"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492503	84	each
21	Size: 20"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492505	252	each
22	Size: 20"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492507	120	each
23	Size: 20"W X 30"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300446	60	each
24	Size: 24"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492508	1472	each

Fastenal
2001 Theurer Blvd.
Winona, MN 55987
Nick Lundquist
Tel: 507-453-8548
Fax: 507-494-3118

2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118			
	\$1.89	\$635.04	
	\$2.08	\$624.00	
	\$4.18	\$200.64	
	\$1.93	\$1,837.36	
	\$2.14	\$102.72	
	\$1.97	\$165.48	
	\$1.90	\$478.80	
	\$2.37	\$284.40	
	\$3.84	\$230.40	
	\$2.36	\$3,473.92	

SYNOPSIS BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters

Contract Period: 1/17/17 thru 1/16/18 Buyer: Samuel Cooper (214) 653-6304

**DESCRIPTION:** Est. Qty.

Size: 25"W X 20"H X 2"D, synthetic fiber media, 24 each 25 30-35% efficiency, MERV 8, Manufacturer:

ProFitter® or equal, Fastenal No. 0492504

**Total - Section 3** 

Specify Prompt/Early Payment Discount Terms (if any):

Specify the name, telephone number of the account representative who will be handling and managing this account.

Primary Contact Person:

Secondary Contact Person:

Fastenal 2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548

Fax: 507-494-3118

\$2.14 \$51.36

\$10,676.24

0%

Spencer Ball, 214-573-7693, spball@fastenal.com

Jenna Myhre, 608-799-8399, jmyhre@fastenal.com